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1)  ALL of the following are characteristics of Ethylene oxide EXCEPT :
1) It is a highly penetrating gas with a boiling point of 10.7°C.
2) It acts by alkylating the amino, carboxyl, hydroxyl and sulthydryl groups in protein molecules.
3) It is most suitable for fumigating rooms.
4) It is especially used for sterilising heart — lung machines, respirators.
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2) Rectified Spirit is to be used in the preservation of viscera in which of the following case?
1) Alcohol Poisoning 2) Phenol Poisoning
3) Nicotine Poisoning 4) Paraldehyde poisoning
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3)  ALL of the following belongs to Aniline group of dyes EXCEPT :

1) Brilliant green 2) Malachite green 3) Crystal violet 4) Proflavine
) Qe JSHNTTAT Feaaas] ceerdl Aad ... GIEERSISISE

q) ST TR ?) AfSipel raeR 3) Sfefthad 8) FgFIL
4) . are applied with the help of a tooth brush for cleaning the surface of the teeth.

1) Dusting powder  2) Surgical powder 3) Dentifrices 4) Insufflations

4)  wrifesgge vyl IMfE Ffshadr AT aRuIRIS!, SR SUIRIGRIN IMIFRIT aToRell o)
......... CIRGIERIIEGH
9) YeIfrely aamIRd ) SFAMRR SgMET 3) caftels crmegd 3) SRHfeis grHsA

TE § 9 7T & TAURISNITS! SUwh UAHIE : AT A= / ¢3



5)

&)

6)

9)

7)

<)

8)

Q)

9)

For Private Circulation Only

During the chemical inactivation of formaldehyde poisoning, treatment with ammonia
produces.........

1) Pentaethylene hexamine 2) Hexamethylene tetramine
3) Tetraethylene triamine 3) Diethylene triamine
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Rayon is different from synthetic fibres because :

1) It is the other name of silk

2) Itis obtained from wood pulp by chemical treatment.
3) It is a natural fibre and used as it is.

4) None of the above
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Polymers used in 3D printing are all except

1) Alginate 2) Polypropylene 3) Collagen 4) Ceramic
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Allelochemical giving an adaptive advantage to the receiving organism is known as

1) Allomones 2) Kairomones 3) Pheromone 4) None of these
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The compound CH, i.e. C4(H,0);
I
H—-C— OH
|
Cc— OH
|
O
1) Aldotriose, a carbohydrate 2) Dihydroxy triose, a carbohydrate
3) Ketotriose, a carbohydrate 4) Not a carbohydrate
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10) The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate conditions to form
a unit of glucose, a unit of fructose and two units of galactose. The molecular formula of the
compound ‘A’is

) CoaHpsOgp ) Ca4HagOsy 3) CosHaoOz1 %) CyaHyg0sg
q9) ?HQOH g T ... MR Sdr A wRifRefidie ... Sean 3.
C =0
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CH,OH
q) frceaan, 3 R) forcigarT, ¢ 3) e, 8 g) ISR, ¢
11) The compound CHZOH T B and........... has pairs of optical isomers.

|

C=0

|
(HO — C — H),

|
CH,OH

1) Ketohexose, 4 2) Ketohexose, 8 3) Aldohexose, 4 4) Aldohexose, 8

9) Weilefdehl DIV YR TG 37" 07 '3 <A1 el D 372 ?
CéHQOH H—g=0
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(HO—(:Z— H), (IEHQOH

CH,OH
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3) 1 AT 3 & UepHard ufiffeitd afor foharees e FwRgElt a1med.
8) 31 M7 3 & TepHera ufifdfeselia Amdt enfr foparete e IRl .
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12) Which of the following option is correct about compounds A and B ?

4 B
CH,OH H—C =0
| |
?=O (HO — ¢ —1I),
|
(I—ID—(FZ— Hjy CH, 01

CH,0H

1) A and B are only optical isomers of each other
2) A and B are only functional isomers of each other
3) A and B are optical as well as functional isomers of each other

4) A and B are neither optical nor functional isomers of each other

93) WUt Dot TG Heprefar fopmefierar raadier ?
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13) Which of the following compounds will show optical activity ?

CH, CHy

0 H
1 | &
H—-(¢—-—DH H—g0— €l L
| | |
I, Cll, CH, —C o©0H
| - |
CH, H
4 5] C
1) Only Aand B 2)Only Aand C 3)Only Band C 4) All of the above

98) WTefleTddh! DIV FRSIBETIRY 0% T HIE =TT ?

H=1,C=12)

9) S ?) e 3) 39 Q) ARIFAETS
14) Which of the following hydrocarbon has 80% carbon ?

H=1,C=12)

1) Benzene 2) Methane 3) Ethane 4) Cyclohexen
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3) eh USRIeth %) S, fore anfdr VeaewH
The example(s) of organochlorine pesticides is/are:
1) only DDT 2) only lindane
3) only endosulfan 4) DDT, lindane and endosulfan
K2 2 a7 e aiiver Reket g e -
9) RFafced oM R) UrheHTg—d
3) RGAfed Fferrssa Q) BeME
K2 is the street name given to the designer drugs :
1) synthetic cathinones 2) amphetamines
3) synthetic cannabinoids 4) ketamines

3) S¥F, TWhicdh

fS3ieT SFREXER dTiRel SIUIR T foley S ARG Icdie axd
1) 0.9 el CO, ?) 9 fbetl CO, 3) 9.0 fpell CO, 8) 2.9 fbell CO,

One litre of fuel consumed by a diesel generator produces an average of :
1) 0.7 kg of CO, 2) 1 kg of CO, 3) 1.7 kg of CO, 4) 2.7kg of CO,

ancel amT-ufeRte wrf quient amed

a) I T fIge & =,

b) Tt IURIHes STR FHTON fRRe .

) oI SR & ST NG UGl WIS,

RITDRT PIoRh U™ sRIeR /3718 ?

9) Beh (31) 3Mfor (§) Q) Wb (9) 3) It T4 ¥) BT AT
The properties of 1deal fire-resisting materials are

a) It should not get disintegrated due to heat.

b) Tt should not expand excessively due to heat.

¢) It should contract rapidly on cooling.
Which of the above statements is/are correct ?

1) Only (a) and (b) 2) Only (b) 3) All of the above 4) None of the above
HfeRAehTT SR 20 ST 2090 USiT SYEicR BRITSH 3igel R FhICHS o T
CEIEIRICSIREICE

9) FAR 90 S ) Yo TIrTEl 3) gAR 80 SIAAE ) GAR ¢ S

The Deepwater Horizon oil rig explosion on 20 April 2010 in the Gulf of Mexico led to the spill
of gallon crude oil.

1) about 10 million 2) 50 million 3) about 40 million  4) about 4 million
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leiietderl iuR fisor anfor Ret fifee dlemed FHifdE amg?

q) UgieT TSIl fehar faaRuT gfae R) AR IRad UHA Tha
3) YRS IR IYPRUT JHAH gl 8) erhM P JHaH

Which of the following is included in control and relay building hazards ?

1) Gasoline storage or dispensing facilities

2) Thermal damage caused to the building structure

3) Smoke damage caused to other equipment

4) Mechanical damage by force

FhICh PIEAT AT Aehd] MY AGR DTl Sl

9) AfeT Alewde D Q) U 37h

3) 3fcdhell 31h ¥) URRIfST 31dh

The detection of elemental sulphur during the extraction of explosives is done with:
1) organic solvent extract 2) water extract

3) alkali extract 4) pyridine extract

Gl DI Wi Thich 3T ?

9) ANFO ) SRIFMIEE 3) URT BT ¥) HMX
Which of the following is a primary explosive?

1) ANFO 2) Dynamite 3) Mercury fulminate 4) HMX
WAUH! DIV TR FhIch ML ?

9) TNT Q) RDX 3) Picric acid 8) PETN
Which of the following is a nitramine explosive?

1) TNT 2)RDX 3) Picric acid 4) PETN

C,HN.O, g PN FhICHIY INID G M ?

q) URT HeAMIE Q) <femt 3) ANFO g) RDX

C,HN, O, is the chemical formula of which explosive?

1) Mercury fulminate 2) Tetryl 3) ANFO 4) RDX
8) ar]

Y H 2020 ST MY T I LG UiferRALT Pivredm IR et iell

q) mIfRT Q) FARM 3) SR 8) FCRRA

Which gas leaked from LG Polymers at Andhra Pradesh on 7 May 2020?

1) Ammonia 2) Chlorine 3) Bromine 4) Styrene

3 feieR 9’¢y ST HIuTw A YR Plafse Sfear fo. 7T Pivrkar argEt et el ?
9) TS IAR—IAC ) g suTse e
3) BT Q) =T
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Which gas leaked from Union Carbide India Ltd., at Bhopal on 3 December 19847

1) Methyl isocyanate 2) Methyl ethyl ketone

3) Phosgene 4) Ammonia

Dl SN TS Y HEA: TR AT fasrear

q) g g R) TR 3) SRR %) T
Carbon dioxide gas extinguishes fire mainly by principle

1) cooling 2) smothering 3) starvation 4) evaporation

RTeficTidh! IO A 8 FUHHATE b1 3 ed™ dl fasRy a1g ?

) BT AN TASS ) P SRRNIAES

3) EIYOH HHIZE %) gferad

Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium

Gleflel arpan faeR &1

a) CO b) T8N c) g Imfor amR d) FARITFRIBIE
R DU ERAE AR 3TTed 2

9) %eh a ) a 3l b Hh 3) a, b 37T ¢ Bh %) a, b, c 3mord
Consider the following gases

a) CO b)N,O ¢) CH and O2 d) Chlorofluorocarbons
Which of the above are the green house gases ?

1) a only 2)aand b only 3)a,band c only 4)a,bcandd

........ g STaceides YUYl FHAURIT Setel 318 SR QT 3ok IigdT Gl HHI 37e. @ 399, iU,
gC 3TIOT U e,

q) =Nfilep aRL R) TN 3) fyaia a”g. 8) S AR,

...... 1s composed almost entirely of methane although it does contain small amounts of other
gases. These are ethane, propane, butane and pentane.

1) Natural gas 2) Inertgas 3) Neon gas 4) Xenon gas

QAT IO ATgge WS B el 2

9) IR Q) FARM 3) RIS Q) BRI PSS

Which of the following gas does not cause pollution ?

1) Ammonia 2) Chlorine 3) Nitrogen 4) Hydrogen Sulphide
y) &

Fehe 3 UICTHE ... % K 3/

9) gA0YY Q) ¥890%E 3) ¥§908¢ 8) €O 30T ATET 3ifereh

Sulfate of potash contains ........... % K.

1) 421044 2) 441046 3) 461048 4) 60 and above
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Athe 3MTh M ........... % K 3.

q) 8A0YY ?) 88908%, 3) 8590%¢ 8) €0 3T TET 31fRreh
Sulfate of potash contains ........... % K.

1) 421044 2) 441046 3) 461048 4) 60 and above
SRIERRE. Uicfigelise Wieleltdhl T 3.

9) PHlepadh Q) UMD 3) @ ¥) aRITUdhT ATE
Dihydrate polyhalite is one of the following.

1) Insecticide 2) Herbicide 3) Fertilizer 4) None of the above
Teiiel fIemithT Pl /2w / 3 ?

37) AHIBIRRIH BIFhe g UI0aTd fREBUIR hivhiRe RIS 318,

) fShferm Biehe g Jrfen 3iRTs faRgmuR BRpIRe 3fie o,

&) CRIBICITH HIRhE § rgeeficl BRI RIS 3.

3) GR B, 96T JoR HRIAC 3T SR BRUCHE HhROIRS RISl IUcTed] IaRauT P 3R,

gt SR

9) Wh 31 Q) ¥ %eh 3) 31, M P Beh  8) 3, &, B 3MU S

Amongst the following statement/s which is/are correct ?

a) Monocalcium phosphate is water soluble phosphoric acid.

b) Dicalcium phosphate is citric acid soluble phosphoric acid.

¢) Tricalcium phosphate is insoluble phosphoric acid.

d) Super phosphate, triple super phosphate and ammonium phosphate contain P in the available
form of phosphoric acid.

Answer options :

1) a only 2) b only 3) a,b and c only 4)a,b,candd

Glefiel Wede! S Hfed W Fgud ilesedel S/ 2

31) MM AARICE §) DI MIFRH TRICE

D) g T) DfAH IAAES

qift SR

9) Weh 3T ) 37 3Mfor § Bk 3) 31, § M PB Bheh  ¥) P 3T S Teh

Among the following fertilisers which is/are also known as organic fertilisers ?

a) Ammonium nitrate b) Calcium ammonium nitrate

c) Urea d) Calcium cyanide

Answer options :

1) a only 2)aand b only 3)a,band conly 4) c and d only
§) HEwEmE! ARA

icels RT PIUAT dYHHI ch ST IR dhel ST ?

q) 40°C Q) 84¢°C 3) R300°C 8) 9840°C

Portland Cement is produced by burning ingredients at what temperature ?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C
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HUT BeledT PishicATS BRI Piordt Sof (fAdfiHed)) FhdRe! SEd ?
q) 93 d Y ?) Yo T 900 3) 4 90 8) 4 d Yo
Which range of slump (in mm) shall be adopted for vibrated concrete ?
1) 12to 25 2) 50 to 100 3) 5tol0 4) 25 to 50

3ffset Ucmelie 9%F areft HRf =l

a) Ucell SMRgefdwdr <.

b) gYUIET YRR dredd.

C) TP hep IR BIVITRT U Pl

IRIAUDT DIV e SIS 3T/ 3T 7.

q) TNt T ?) Wh (a) 3) Hh (a) MM (c) ) Fh (b)
A base in an oil paint performs functions such as
a) Gives opacity to the paint.

b) Increases resistance to abrasion.

c¢) Prevents formation of shrinkage cracks.
Which of the above function/s is/are correct ?.

1) All of the above 2) Only (a) 3) Only (a) and (c¢) 4) Only (b)
ARG g PIURAT ISR G PRATT Ich qURIVTRRAT IR ?

9) PUHATEI T8 Q) heg 3) fawHsaR @) feadma
Blue vitriol is used in the blood test for diagnosis of which disease ?

1) Pneumonia 2) Anaemia 3) Typhoid 4) Malaria
A/An T USHNTRIE {4 Uc Hcd SR,

SDICIESH ?) Hiecee 3) $R 3) fraR®
A/An holds all paint components together with the surface.

1) binder 2) solvent 3) drier 4) extender

et deaed shig—fetdhor sfugael it agr FrRIffa et S

9) Wh AUHM R) Th SAlfadse

3) Beh gHfTed ) d9qH, AffeasyH anfor sffdmued
The formation of cross-linkage bonds in enamel paints is governed by:

1) only temperature 2) only oxidation

3) only initiators 4) temperature, oxidation and initiators

3’ STSAT AT SHED WTAeTddh! DIvrT T QUIRATS! et ATl ?

9) el Q) dufesst 3) IRETE ) fyosr

‘Ochre’ dye is used to impart which of the following colors in tattoo marks?

1) Black 2) Brown 3) Grey 4) Blue

Tl I TRRelel gl Yo fHicear R AErer R Mgd Sfll Bluar Rt
ISYATTRIST ShedHT 3dehqUl SRIE ?

9) ol ARl JSHRT ?) TS T ySHIT

3) Afess gSHR g) wedich JEHN
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Aluminium dust spread over with camel brush, adheres to the sebaceous secretion of the print
and makes prominent the ridges over which kind of surface?

1) Light colored surface 2) Dark colored surface

3) Porous surface 4) Pliable surface

fTTen Wiefietieh! PrurdT SfeM ugaeR FRiameR s[eey Rl ?

q) IFFHIATS ?) T

3) fuRarg g) Jafher STgHa

Which of the following approaches of science relies on systematic observations ?

1) Empiricism 2) Rationalism

3) Determinism 4) Personal experience

RGTeAIcTUeh! DI &R USRI YGIPRUI dTIRaId ?

9) TET R) YuIrET el 3) RSt ool ¥) QoI el

Which of the following Salt is used in refining of Petrol ?

1) Soap 2) Washing Soda 3) Bleaching Powder 4) Baking Soda
S

(€) AT AR -~ EAIPE, Hleh1b, U, a7, &

q) ST AR — ERIDDE
-3 3-9 g3 4-3 £-2 9-3 il -9 90-3
92-2  93-2  98-3

R) Hleder, Y, fawged

-9
3) SYA, ThIcH
-9 3-% ¥—-9 4-2 &= 9v-3 -9
8)ag
-9 3-3 $—9 4-% €-19 -3
4) @d

R-9 3-3 8-8  4-g

£, ) TE<aril AN
-9 3-9 $—3 4-9 €-2 9-3 ¢ Q-9 90-3
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